[d” sum p_/dnd¢{GeV]

Ratio to ATLAS

0
&

w

N
ol

1.5

0.5

[EEY

0.5

7000 GeV pp Underlying Event .,
L L L L B L IO BN N Il—E
- Sum(p_) Density (TRNS) (| < 2.5, p_> 0.1 GeV) sk
- =
-~ m  ATLAS R
— ¢ Sherpa 1.4.2 default —1s
= —<i
= ~os
B o
— —.=
— —x
B 1z
| ™M
L F S A, b __§
B ,..'ni ) ¢ _§
B g =
| o X
| .."‘ | @©,
B m 16
B m ¢ s
L omy 13
- W 2
S -5
- ¥ 12

P I U HI | P I I R | P I R I | P I U HI | =
: T T T T | T T T T | T T T T | T T T T |:

— —2
B = Q—O—Q—MLQ—Q—H-—‘ 5 — ¢ |

B RRTAR y S 11
’.QQ |
*00? _

| —0.5
......... T T T T [ T T T T A T T TN S

5 10 15 20

P, (leading track) [GeV]



	Contents
	Page 1


